Homewor X 44 Soluchions
(4% 649, ¢:65 Bt13:10,3.1]

Froblom .55

l__(} /V\:_ M2 lo/w@aﬂ C%JCW/VI )ﬁl/(i‘ ‘@g[ Wore)
who are P"@V""‘} 1 rwed Qybemda

(») H,: M= 4.5 ( don’t Adfee From 435)
L\Ag M?L 1.9 [0((“41 mem 4,'7))

00> 71(/6)r SVLMWo?L((, (5 mw&’”

2 _ 4.56-45 ~ .63 S

04 /fw
N Hy s ,MUIS wwlM:’L\O(Z 7\1’%D
=2 V(2 7 2.6%)
_5 (|- P(2 (2.69)
=2(l— 4%3
::,007—4(

4l/\»a/3r\\L Mtlu: .00FG 15 5/\%“ we hav ¢ ﬂ\mxy
OVidetes M“MP Hy. Te we m/w)lw[[/ Hat He meo

Wood Caliium I(,v \ 15 /wv[ 1:5 For \(L@ P”‘?/\Ml wime)
SO - e



(() h Y (T for P13 WU en l’j
| (7'((’
95461 \445(7\——9:«;)
S 451 0.0Uh Ly
= (9592, 1.6018)

frobloay (.49

Lk M=man ORE Sore fof ‘H/W/ﬂm&(él/ﬁ nHhns
Subucban schod Arshnck

Fushneed X $x = 1544 S X =35.0110 (4

j ( aNe ;-
( “) HO ’ /M 31 W"‘;V\ 6‘53\/:1& ﬂi(ﬁf(;\;(jwzm%&)

/ ( mean scote Wghes FHaey
(@ H/‘( . /\A 7 LR V\ml/o»m/ averaqgl

([f)) Tush shabshe: 2= 35.010-32 YA
HA: A 7L ”/@ J’\W

A “
e Pl P> 66) = 1-0(24046)

= [—.46%
Z 03l




S0 woull condude M Hagmemn {or thas 5ch%[7?!7}¥76/
19 11deed Wigher Yy oy vithonal average

Problem 665
(a) e} /V&; YN aromt ol éugw \N L’\ajgm/j O‘P /06’?%04&1@

HO;’ /\/\: 7—
HAZ’ /\/\7&7
S 457, (T 15 62105 1L C//f/éf‘v)

GLOQS V\ojr CO/\XL[L[/\ /71 W Wau,M KQV\(/)LMZL
e 9% L of é/gm\t(m/me Mot Mo

Mmoo 15 Mok equal
(\0> T \n&)raw@, wWe “Léf)‘ﬂl
H, =5
V5
Ha 3/‘A7£5

Sirec 915 sl H\L KDNHWMEW@(
L wwu /\mL {\6\)(5} H\a "M/(/\ \/)Wﬁfu’%%”%

H/\L 57 (4(/0? mﬁ 61@/\\#1:%.



Vroblom b L

Lo} = Drogodion ot peatle 1 q//,,/é
P perio fedic 11 PH on wLw inkend
bug dojrw a5 Hapr fipef o

N
P:%: Olé005 ééfp(p)
b1

& 19%, CT 15 quea lj

-‘I-._____-—-—-—'—”'_'_'___._‘_—‘"'__"__

Uyl
= 0,6005T D.0443
"? (’gg?l/,é4'éf§)

Ero\y‘/ﬁ 4)4’0
LIA \0':- QM@OF)M/\ @‘F lrus HV/J le W \lby\e(‘,eu/c

We Sreatmeal

D= ) _ pagds Cedp)
216

N 459, CT Sor P15 guen by

896 T .96 § |19 (1= 1et)
s
AT L0525 (1375, .2421)

b J



\)ra\alfi’//\ 43’\6{

LLL P = {)(0‘014,17(1,;‘@ ‘)‘L‘Wﬁl [O\n /0/"1,65 (,(,P 2’%&{5
@::goyl :,§Oé7

(0000
(&)L’)O: P‘:O”S
HAZ' P#U"B

Lté)r ')Jrn}\a‘nc 1§ 2= «H067 -.5 ]ﬂvJLf

n—
—

.150_,5) Q
b[[ﬁOOO REVATETS

_ 136]) = 2 PR 7\34)
Dyalue= 2Pz 7| 51(\.’@(%&\4349

;L“—'»‘mﬂ)
= W% 0L
Liee Nog Pvilue 15 large r Yoo 05 (4n nol

rgect e nyll )/\w)mLW. e ho evideneto
Show Mo pﬁobwla,)nly yr gy’:}mﬂw é/llbpzﬁs /\fﬂ/”? )

L) A% (T For pis
5063+ 1 ).96 5067 (|- 5067)

V7o lv])]

= 5067 1 w099 — (4469, .‘ﬂé@)




